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Converting	Decimals	to	Fractions
	

Date__________________	Period_____

Convert	the	decimal	to	a	fraction.

1) 0.405 	 2) 0.619 	 3) 0.268

4) 0.193 	 5) 0.49 	 6) 0.049

7) 0.554 	 8) 0.137 	 9) 0.954
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Converting	Decimals	to	Fractions
	

Date__________________	Period_____

Solution	Steps

1) 0.405

We	can	write	

0.405 = ,	meaning

405	thousandths

	can	be	reduced,	since

5	is	a	factor	of	both	405
and	1, 000:

÷ =

The	fraction	is	now	in
lowest	terms

	 2) 0.619

We	can	write	

0.619 = ,	meaning

619	thousandths

	 3) 0.268

We	can	write	

0.268 = ,	meaning

268	thousandths

	can	be	reduced,	since

4	is	a	factor	of	both	268
and	1, 000:

÷ =

The	fraction	is	now	in
lowest	terms
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4) 0.193

We	can	write	

0.193 = ,	meaning

193	thousandths

	 5) 0.49

We	can	write	0.49 = ,

meaning	49	hundredths

	can	be	reduced,	since

10	is	a	factor	of	both	490
and	1, 000:

÷ =

The	fraction	is	now	in
lowest	terms

	 6) 0.049

We	can	write	

0.049 = ,	meaning	49

hundredths

7) 0.554

We	can	write	

0.554 = ,	meaning

554	thousandths

	can	be	reduced,	since

2	is	a	factor	of	both	554
and	1, 000:

÷ =

The	fraction	is	now	in
lowest	terms

	 8) 0.137

We	can	write	

0.137 = ,	meaning

137	thousandths

	 9) 0.954

We	can	write	

0.954 = ,	meaning

954	thousandths

	can	be	reduced,	since

2	is	a	factor	of	both	954
and	1, 000:

÷ =

The	fraction	is	now	in
lowest	terms
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